Econ 200B

Professor Leffler First Exam

Fall 2007



TA grading guide.  Each question has a maximum value of 24.  4 bonus points for student name, TA name, and TA section letter.  Strive for an average of 16-17.  Read at least ten answers before settling on your scoring system.  For each question you grade, you must prepare a summary of how you graded, examples of good approaches and also common errors students made.  This must be given to me (in electronic format) by Wednesday evening.  I will then post it on the website for the students to read.  Below I provide some comments to guide your grading.  I expect the grading to be done by Wednesday night with all scores posted by then, and with exams handed back at Quiz on Thursday.
1.  a. If the demand for apples increases, the elasticity of demand for pears at the 

original pear price (the price that existed before the demand for apples increased) will likely decrease.
True.  An increase in the demand for apples will increase the price of apples by creating a shortage at the original price.  Assuming that Pears are a substitute for apples, the increased price of apples will increase the demand for pears.  A shift up and out of the Pear demand will cause the elasticity to fall at each price (using the graphical tool of the elasticity equals the value of the [price to the intercept] divided by the price (or the percentage change in the nominator (the percentage change in quantity will fall because the quantity will increase). 
b. At some level of income and some price, each and every market good that a

        consumer is not endowed with must be a normal good.
True.  A normal good is one for which an increase in income causes in increase in demand (and consumption at a given price).  At zero income, there will be zero consumption of market goods.  At some level of income, consumption will be positive.  Hence, over some income range, an increase in income will cause an increase in consumption.
c. Basic Economic Principles imply that people are less likely to vote as the population of the United States increases.
True (grade this based on whether the student demonstrates understanding of Basic Economic Principles rather than an understanding of probability with increased sample size.)  The decision to vote is expected to follow the basic economic principle of “take an action if the benefit exceeds the cost.”  One benefit of voting is the likelihood that an individual’s vote will influence the election outcome.  The greater the population voting, the less likely a single vote will determine the outcome. 
2.  a. Under normal supply and demand conditions, increasing a per unit tax will 

          always increase the tax revenue.
False.  The tax revenue will increase if the percentage reduction in the amount purchased (quantity demanded) as a result of the tax increase is less than the percentage increase in the tax.  If the demand curve is sufficiently elastic, than this condition may not be satisfied.  Tbe easiest case to see is when the tax increase causes the quantity demanded to fall to zero.  Consider an example using the typical demand I have used in class (P+Q=11) with a horizontal supply curve so that the percentage change in price equals the percentage change in tax.  Assume the tax initially is 7, the price 8 and the quantity demanded 3.  The tax revenue is then 21.  Increase the tax to 8. The price will increase to 9 and, assume, the quantity demanded falls to 2.  Tax revenue fell to 16.   
     b. Mary just shopped and bought  8 bananas for $2.40 cents each and 4 chicken breasts for $4.00.   She would have preferred a store where the bananas cost 25 cents each and chicken breasts were $1.15 each.
Uncertain.  Mary spent $6.40 when she just shopped.  At the other store, 8 bananas and 4 chicken breasts would cost her (8*25¢ + 4*$1.15=) $6.60.  She cannot purchase the original most preferred set of quantities at the new store which would be sufficient to determine she prefers the new store.  However, the price of bananas has fallen (30¢ to 25¢) and the price of chicken risen ($1 to $1.15).  Hence, she will have a new and different most preferred set of quantities at the new store.  Without knowing the dertails of her preferences, we cannot known whether the new surplus is greater or less than before.   
c.  The gains from trade available to trading parties are reduced when middlemen are used since the middlemen siphon off some of the consumer surplus as profit.
False.  Middlemen provide valuable services (known location, gains from repeat business motivating honesty).  We would use middlemen only if those services were more valuable than what the middlemen was charging via his markup.
3.  a.  Sam's Demand Schedule for "food" is

           Price ($/Q)       10
9
8
7
6
5
4
3
2      1

           Q Demanded   1
2
3
4
5
6
7
8
9     10

Sam shops at Joe's Market where the price of food is $6.  Joe's Market offers a Loyal Shopper discount of 50%.  It costs $17 to join the Loyal Shopper Club.  Sam is expected to join the Club.
True.  Sam’s surplus without joining the Club is (10-6 + 9-6 + 8-6 + 7-6 + 6-6 +) 10.  If he joins the club, his food price will fall to $3, and he will buy 8 getting surplus from the food purchase of (10-3 + 9-3 + 8-3 + 7-3 + 6-3 + 5-3 + 4-3 + 3-3 =) 28.  After buying the “entry fee” of 17, he would have surplus of 11.  This is the better deal.
b. Since dollars have no intrinsic value, it makes no sense to define an indifference schedule in terms of dollars and a good.
Not looking for a true or false here.  Dollars have value because they are used on one side of most trades.  Hence, they can be used to trade for “other goods.”  To say a consumer is indifferent between more of a good and less dollars, is saying, in short hand, that the consumer is indifferent between the most preferred set of goods he or she would choose with the given two amounts of dollars and the two different amounts of the second good. 
c. Food, shelter and clothing are basic human needs for all people.  However, as a society becomes wealthier, other things such as basic medical care and education become basic needs.
Again not looking for T or F but rather the clear recognition that given scarcity and substitution the concept of “basic needs” is meaningless.    
4.  a.  Assume water and electric costs have become major items in students’ budgets.  Mary lives by herself in a house she rents and pays her water and electric bill.  Jane has two roommates and the three of them share the water and electric bill.  Susie lives in a dorm where the cost of water and electricity is included in the quarterly dorm bill.  Everything else the same except for the living arrangements, who do you expect to take the longest and the shortest showers?
Longest Susie; shortest Mary.  This is a simple application of the law of demand.  The cost to Mary of a long shower is the actual increase in the water and electricity bill.  For Jane, the cost is only a third of the actual increase; while Susie will see no increase expense from her taking a long shower.
b.  Donnie is union electrician.  As a result of the building downturn, his union just agreed to adjust the union contract.  As a result, next year Donnie will get a raise equal to only 75% of the increase in the cost of living.  Assuming Donnie works the same number of hours, will Donnie’s standard of living be lower next year than this year?  
Don’t know.  Donnie will not be able to buy the same set of goods he bought last year.  However when the “cost of living” increases, some goods prices likely rise much, other hardly change, and other likely fall, even though on a quantity weighted basis, the average prices rise.  The law of demand implies that Donnie will change his mix of goods, increasing consumption of goods with relatively lower prices (and vice versa).  Depending on his preferences, he might be better off.  (For example, assume his main non-work activity is playing computer games and that he spends most of his earnings on the latest gaming computer machines.  If the price of computers falls, his increased surplus there may more than offset his reduced surplus for the goods with increased prices.)  
c. John is faced with the following three options of meat (M) and fruit (F):  a.  (8M, 12F), b. (10M, 8F) and c. (6M, 16F).  He tells you that he is indifferent between two of the three options but finds one of the three options to be preferable to the other two.  Which of a., b., or c. is his preferred option?
a. is the preferred.  As the amount of meat increases from 6 (c) to 8 (a) to 10 (b), the marginal value of an additional unit of meat must fall (diminishing marginal valuation postulate), that is, he will give up less food to get the additional meat.  If John is indifferent between for example, c. and a., then the only way this postulate can be satisfied for a third bundle with 10M is for there to be more than 8F.  Hence, if he is indifferent between c. and a. (or b. and a.), then b (c) is less preferred.  If he is indifferent between b. and c., then he would be indifferent to some bundle a’ which has 8M and less than 12F.  Hence a would be be preferred.  
5.  a.  Assume a very dry winter is expected and a water shortage is expected in the summer of 2008.  The Seattle City Council proposes prohibiting water use for non-essential uses.  The citizen committee has proposed that the following as non-essential uses:  i.  watering lawns; ii.  flushing after each toilet use; iii.  washing cars; hosing down driveways.

a1.  What is a “non-essential” use;
I don’t know.  People are willing to substitute each of these water uses for other things, but people have different preferences and willingnesses to substitute.  Some would give up lots of other goods to have a nicely landscaped yard; some a lot to always have afresh toilet bowl, some … 
a2.  Suggest an economic method of identifying non-essential uses;
Have people indicate their willingness to substitute through their choices.  If the price of water equals its supply cost, then people will reduce their use of water in the way that maximizes their surplus.  Some will still water their lawns; some will wash their cars.
a3.  How could the shortage be solved?
A shortage means that the quantity demanded exceeds the quantity supplied.  The shortage can be eliminated by letting the price rise until the quantity demanded is reduced enough to equal the quantity available. 
b.  How will a fungus that that results in low wheat harvests impact wheat farmers and corn farmers?
The price of wheat will increase with the reduced supply of wheat.  Farmers will have less wheat to sell, but they will sell it at a higher price.  If the demand for wheat is inelastic (elastic), the wheat farmers’ incomes will rise (fall) and they will be better (worse) off.  The increased price of wheat will increase the demand and prices of wheat’s substitutes.  Assuming corn is a substitute, corn farmers will unambiguously benefit since they will have the same amount to sell (no corn fungus) but at a higher price. 
c.  Is trade expected when some people have too much of some good?
In economics having “too much of some good” makes no sense (a good is something people want more of).  Trade occurs because people have different marginal values; that is, when two people have given amounts of goods and when one person places a higher value on having more of a particular good than another places on having less of that good, trade is expected.
